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) An mventor Claims ¢ develop an adiabatic,
- steady flow turbine gych

- steac that entropy at the
-rgfg_x_lt is less then entropy at inlet. Is the claim

true ? Justify.
b (f) The shaft work in a Pump to increase the |
K pressure is small compared to the shaft work |
!f’ in an air compressor for the same pressure i
B increase. Why ? |
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(g) Does a reversible process change the
. availability if there is no work involved ?

1000 K and gives out 600 W as work with
\ therest as heat transfer to the ambient, Find
first and second law efficiencies.






.0 -1 m® is compressed in a reversible adiabatic

b ; _process to a final temperature of 700 K. Find

 the final pressure and volume.

(i A de-superheater works by injecting liquid |
* waterintoa flow of superheated steam. With




] two sources one
a 100°C reservoir,




: fine the heat transfer from thc engine
 kilomole of the fuel. 6

0, "'Eﬁthalpy of combustion.

54 '(i_l") Adiabatic flame temperature.

essure reacts with 1 kmol of oxygen at 25 °C and
MPa pressure to form an equilibrium mixture
of CO,, CO and O, at 3000 K, 0-1 MPa pressure




